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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M ̂ c* esa
y?kwŸkjh ç'u ,oa [k.M ̂l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂v* dks lcls igys gy
djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aA
Answer the following very short-answer-type questions in one or two
sentences.        (1x10=10)

ç'u 1- ?ksa?kk jksx D;ks gksrk gS\
Why does goitre start?

ç'u 2- 5-izsXusuksyksu dk fuekZ.k fdl dksf'kdk vaxd esa gksrk gS\
Which cell organell prepares 5-pregnenolone?

ç'u 3- Qksyhdy ekspd gkjeksu dgka ls lzkfor gksrk gS\
Which organ secretes sollide stimulating Hormone?

ç'u 4- ,d v.Mtuu dks'kk ls fdrus chtk.kq dk fuekZ.k gksrk gS\
How many ovule are formed by one ova germinal cells?

ç'u 5- ;ksX;re dh mÙkjthfork ds fopkj ds ewy izorZd dkSu gS\
Who gave the concept of survival of the fittest?

(4)

fodkl ds vk/kqfud la'kfy"Vokn ls vki D;k le>rs gS\ blds eq[; fcUnq
fyf[k,A
What do you understand by modern synthetic theory of evolution? Describe
its main points.

ç'u 4- varfuZfgr ,oa vf/kxe O;ogkj esa varj Li"V dhft,A
Differentiate between innate and learning behaviour.

OR

fj¶ysDlsl O;ogkj D;k gS\ foLrkjiwoZd o.kZu dhft,A
What are reflexes behaviour? Explain in detail.

ç'u 5- js'ke dhV ikyu ij fuca/k fyf[k,A
Write an essay on sericulture.

OR

,DokdYpj }kjk eksrh cukus dh fof/k dk o.kZu dhft,A
Explain the method of pearl making in Aquaculture.

---x---



(2) (3)

ç'u 6- euq"; dk oSKkfud uke D;k gS\
What is the scientific name of Human?

ç'u 7- tSookfldh@vkpkj'kkL= dh ifjHkk"kk fyf[k,A
Define ethology.

ç'u 8- yfuZax ¼vf/kxe½ O;ogkj dk ,d mnkgj.k ns\
Give an example of learning behaviour?

ç'u 9- ckEcsDl eksjh D;k gS\
What is BOMBEX mori?

ç'u 10-vQhe ls O;qRiUu nks inkFkksZ ds uke fyf[k,A
Name two opium derivatives?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (3x5=15)

ç'u 1- Fkk;jkWbM xzaFkh dk ukekafdr fp= cukb,A
Draw a well labelled diagram of Thyroid gland?

OR

gkWeksZu fØ;k esa pØh; ,-,e-ih- dh Hkwfedk dks fyf[k,A
Write the role of c-AMP in hormone action.

ç'u 2- nqX/k lzko.k ds fy, t:jh gkeksZu ij fVIi.kh fyf[k,A
Write a note on Hormones necessary for lactation.

OR

ekfld pØ dk ukekafdr fp= cukb,A
Draw a well labelled diagram of menstrual cycle.

ç'u 3- ySekdZ ds fodklokn ds fl)kar ij izdk'k Mkfy,A
Throw light on the theory of evolution propounded by Lamarck.

OR

leo`fÙk vax D;k gS\ mnkgj.k lfgr le>kb,A
What are Analogous organ? Explain with examples.

ç'u 4- O;ogkj ij vkS"kf/k ds izHkko dks le>kb,A
Explain effect of drugs on behaviour.

OR

LVhfj;ksVkbi O;ogkj dks le>kb,A
Explain Steriotype behaviour.

ç'u 5- eNyh ds fiatj lao/kZu dk o.kZu dhft,A
Describe cage culture in fishes.

OR

js'ke dhV mRiknu esa lko/kkfu;ka crkb,A
Give the precaution in sericulture.

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (5x5=25)

ç'u 1- Fkk;jkbM xzaFkh dh lajpuk dk o.kZu dhft, rFkk Fkk;jkfDlu gkeksZu ds
tSola'ys"k.k dks le>kb,A
Discribe structure of thyroid gland and biosynthesis of thyroxin hormone.

OR

bLVªkstu gkeksZu ds tSo la'ys"k.k ds ckjs esa fyf[k,A
Describe biosynthesis of oestrogen Hormone.

ç'u 2- lkekU; izlo fof/k dk o.kZu dhft,A
Explain mechanism of parturition.

OR

;ksd o ;ksd f>Yyh ds fuekZ.k dks le>kb,A
Explain the mechanism of yolk and yolk sac formation.

ç'u 3- tSo fodkl ds Hkzw.k foKku ds lk{; fyf[k,A
Write evidence of evolution from embryology.

OR

P.T.O.


